Latin GCSE

Wednesday 17th May 2023



Revision recap!

Worksheets on ‘sum’ and ‘possum’ from Chapter 3



sum and possum

Write out the present tense of the verb “to be” in full (6).

| am

| You (sg.) are

| He/shelit is

We are

| You (pl) are

| They are

Now look up the verb table and revise the imperfect tense endings

Ext: what do we mean by a ‘compound of the verb to be’?



Translate these Latin forms into English:

1. eram

2. POSSUMuUS
3. potest

4. possunt
S. poteratis
6. erant
Grammar

Cross out the two parts of the verb “to sleep” that do not belong in this short sentence and then translate
what you have left:

dormio/dormire/dormivi non poteram.



Translate these English forms into Latin:

7. | can
8. He was
9. you (sg.) were able

10. you (pl.) can

Give one derivative of “possum” and explain what it means (2)

Derivative Meaning




Personal Pronouns
Page 124 Ex 4.38, 4.39
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Homework - Ex 4.40 (end of Chapter 4!) and Chapter 4 vocabulary
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